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Mathematics for Actuarial Science: Answer sheet 2
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No solution.

cx =32y = 1= (or similar).
2y = 3x — 29, (5,—7).

12y + bx = 22, k = —22, 26.

(—4,-5), 3v/5; (1,0), v/5,
5\f (b) 3v/2.
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y? = 122 — 36.
(a) C: (0,0),

minor: 4.

(b) C: (0,1),

minor: 4.

(e) C: (0,3), F: (0,34+/3), major: 4,

minor: 2.

:(0,0), F: (£v/2,0), A: y = £

(1,3 £ V5),

r+1land y=—2x+5.

F: (£+/5,0), major: 6,

F: (£v5,1), major: 6,

0
0), F: (£5,0), Ar y = +3a.
,3), F
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a) 122 — 4z — 2273,
b) —3sin(3x + 2).

1—z2

) it
) e® cos(z?) — 2ze” sin(z?).
g) 6 _ 2

(2z—1)2 (z+2)2 "

i) — sinm(tan(mZ)) sec?(z?)2z.

a) 3x? + 3y +6xy 2y—2xj—g —
47y =3 — 3z Yy _4dy =0.

(b) — sin(x) sin(y)

+ cos(x) Cos(y)% = 0.

(c) —sin(y tan(a:))(% tan(z)
bysecd(n) = (ay) (y + o).

(d) (142 cos(y) §4) (z—y)— (z+2sin()+4) (1= %) _

Y a (z—y)?
—cosec”(y) 2.
(e) tan(x~ ldy —ysec?(z7)x2+

sec( -1 —azsec( Y tan(y =)y 24

2142
2t+2

- (a)
(b) cosec?(t)

(c) (3t241)(142t2)
)

2t
—92¢2 cos(t)—2t sin(t)
2t cos(t)—sin(t)

(e) —12tsec?(4t) In(t)2.

Cfl@) ==+ 1, 8=V2



